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 BCOC-132  

BACHELOR OF COMMERCE (GENERAL) 

(BCOMG) (CBCS) 

Term-End Examination 

December, 2021 

 

BCOC-132 : BUSINESS ORGANISATION  

AND MANAGEMENT 

Time : 3 hours Maximum Marks : 100 

Note :  Answer any five questions. All questions carry 

equal marks. 

 

1. What do you mean by Human Resource 

Management ? Discuss the functions of HRM. 5+15 

2. ‘‘Globalisation, technology, changes in 

demographics, nature of work and demographic 

trends are significantly influencing the way HR 

managers do their work today.’’ Discuss the 

statement giving adequate examples. 20 

3. What is meant by Morale ? Outline the factors 

which influence the morale of employees in an 

organisation. Discuss the significance of 

leadership vis-a-vis morale. 3+8+9 
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4. Explain the features of an ideal form of business 

organisation. Which form can be considered to be 

ideal in all respects ? 8+12 

5. What are the emerging trends in business ? How 

has technology impacted the business in today’s 

time ? Discuss with examples. 7+13 

6. Explain the following terms : 102=20 

(a) Digital Wallet 

(b) E-commerce 

(c) One-man Ownership 

(d) Co-operative Organisation 

(e) MSME 

(f) Innovation 

(g) Idea Generation 

(h) Make-in-India 

(i) Skill Development 

(j) Start-up India 

7. Briefly comment on the following statements : 45=20 

(a) Planning is recognised as a key function of 

managers at all levels. 

(b) Management audit is a systematic and 

impartial examination.  

(c) Business deals with goods and services. 

(d) Earning profit is the primary motive of 

business.   
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8. Write short notes on the following : 45=20 

(a) Manual 

(b) Formal Organisation 

(c) Delegate Authority 

(d) Trade 

9. Distinguish between the following : 45=20 

(a) Autonomy and Stability  

(b) Limited Company and Unlimited Company 

(c) Long Range Planning and Short Range 

Planning 

(d) Economic Objective and Social Objective 
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 ~r.gr.Amo.gr.-132  

dm{UÁ` _| ñZmVH$ (gm_mÝ`)  
(~r.gr.Amo.E_.Or.) (gr.~r.gr.Eg.)   

gÌm§V narjm 

{Xgå~a,  2021 

 

~r.gr.Amo.gr.-132 : ì`mdgm{`H$ g§KQ>Z Am¡a à~§Y 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & g^r àíZm| Ho$ A§H$  
g_mZ h¢ & 

1. _mZd g§gmYZ à~ÝYZ go Amn Š`m g_PVo h¢ ? _mZd 

g§gmYZ à~ÝYZ Ho$ H$m`mªo H$s MMm© H$s{OE & 5+15 

2. ‘‘d¡ídrH$aU, àm¡Úmo{JH$s, OZgm§p»`H$s _| n[adV©Z, H$m_ 

H$s àH¥${V Am¡a OZgm§p»`H$s` éPmZ AmO _mZd g§gmYZ 

à~ÝYH$m| Ho$ H$m_ H$aZo Ho$ VarHo$ H$mo H$m\$s à^m{dV H$a aho 

h¢ &’’ n`m©ßV CXmhaU XoVo hþE Bg H$WZ na MMm© H$s{OE & 20 

3. _Zmo~b go Š`m VmËn ©̀ h¡ ? EH$ g§JR>Z _| H$_©Mm[a`m| Ho$ 

_Zmo~b H$mo à^m{dV H$aZo dmbo H$maH$m| H$mo ~VmBE & 

_Zmo~b Ho$ g§X^© _| ZoV¥Ëd Ho$ _hÎd H$s MMm© H$s{OE & 3+8+9 



BCOC-132 5   P.T.O. 

4. ì`mdgm{`H$ g§JR>Z Ho$ EH$ AmXe© ê$n Ho$ bjUm| H$s 
ì`m»`m H$s{OE & H$m¡Z-gm ê$n g_ñV nhbwAm| go AmXe© 
_mZm Om gH$Vm h¡ ? 8+12 

5. ì`dgm` _| C^aVr {d{dY àd¥{Îm`m± H$m¡Z-gr h¢ ? AmO Ho$ 
g_` _| àm¡Úmo{JH$s Zo ì`dgm` H$mo H¡$go à^m{dV {H$`m h¡ ? 

CXmhaUm| g{hV MMm© H$s{OE & 7+13 

6. {ZåZ{b{IV eãXmdbr H$s ì`m»`m H$s{OE : 102=20 

(H$) {S>{OQ>b dm°boQ> 

(I) B©-H$m°_g© 

(J) EH$-ì`{º$ ñdm{_Ëd 

(K) ghH$mar g§JR>Z 

(L>) E_.Eg.E_.B©. 

(M) ZdmoÝ_of 

(N>) {dMma g¥OZ 

(O) _oH$-BZ-B§{S>`m 

(P) H$m¡eb {dH$mg 

(Äm) ñQ>mQ>©-An B§{S>`m 

7. {ZåZ{b{IV H$WZm| na g§jon _| {Q>ßnUr H$s{OE : 45=20 

(H$) {Z`moOZ H$mo g^r ñVam| na à~§YH$m| Ho$ EH$ à_wI H$m`© 
Ho$ ê$n _| _mÝ`Vm àmßV h¡ & 

(I) à~§Y Am°{S>Q> EH$ ì`dpñWV Am¡a {Zînj narjm h¡ & 

(J) ì`mnma _mb Am¡a godmAm| Ho$ gmW g§~§{YV h¡ & 

(K) bm^ H$_mZm ì`dgm` H$m àmW{_H$ _H$gX h¡ & 
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8. {ZåZ{b{IV na g§{já {Q>ßn{U`m± {b{IE : 45=20 

(H$) JmBS> ({Z`_mdbr) 

(I) Am¡nMm[aH$ g§JR>Z 

(J) à{V{Z{Y àm{YH$aU 

(K) ì`mnma 

9. {ZåZ{b{IV _| A§Va ñnï> H$s{OE : 45=20 

(H$) ñdm`ÎmVm Am¡a pñWaVm 

(I) gr{_V H§$nZr Am¡a Agr{_V H§$nZr  

(J) XrK©H$m{bH$ `moOZm Am¡a AënH$m{bH$ `moOZm 

(K) Am{W©H$ CÔoí` Am¡a gm_m{OH$ CÔoí` 


